T

x

1 EER
F WER m | E & (km) B & (km) m B (km)
204 EA E 860.8 52.5 164.0 644.3
b 770.9 525 161.7 556.7
215 ER 867.7 52.5 164.0 651.2
y b 778.0 525 161.6 563.9
22t ER 879.3 53.9 164.0 661.4
b 790.9 53.9 161.9 575.1
23 ER 879.7 53.9 163.9 661.9
b 792.0 53.9 161.6 576.5
2utE ER 879.7 53.9 163.9 661.9
BX & = 791.9 53.9 161.5 576.5
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% h il = M B(m)
—ARBLEEFHLAE | AIFAMERUETEATHA 112,381
B X W © H B E B # A 16,704
3 RE-TEZXEORKRR
% # ARG L A A 2 % &
Gy ] 695 181 - 46 468
g B F = 188 4 - - 184
Yz BT [ #h Yz ET 12 4 — - 8/H 4 5
L& Y EHT 66 — — — 66/|S61H 1 2 3
FRAE [ AT HET 24 — - — 24|S 48
= I i EHAET 70 — — — 70| S 49 50 51
AF)IHH AFIIETEH 16 — — — 16/ S 53
(il F=S £ 507 177 - 46 284
BESREEE  [AFHET 110 - - - 110|H 6 ~ 11
SETEEE  (SEET 46 36 — — 10/ S 3537 41 42 H 11
—84EE ZZHET 86 - - - 86/H 13 ~ 15
HEREE KEFETHE 3R 38 — — 38 —1'S 49 50
AFEEE AFIETEH 48 — - — 48|S 53 ~ 55
XKEE=E BTEFET K1 20 20 — - —|H 13
FUEEE AT HET 8 — — 8 —lH 9
AmifE=E FARTET AT 8 8 - - — S 3440
ETE=E FARTETE T 9 9 — — —|S 40
FEEE FARITET £ 2 2 - - —|S 45
[LREEE FARITET 4R 41 41 — — —1S 33396061 H 7 ~ 10
HKEE P RITET #0 30 — - — 30/H 10
WEEEE FARTETE T 22 22 — - —|H 14 21
AKEEE FARITET B K 1 1 — — —|H 21
AKAEEE FARITET B K 1 1 — — —|H 21
ETREEE |FAELET 1 1 — — —|H 21
BEEEE FARTET B &7 2 1 1 - - —|H 21
EHEE EMHAET 12 12 — — —|H 21
R)BAGUMFE (R A 12 12 — — —|H 21
HhiEE & Hth T 11 11 — — —|H 21
4 BEEIBHRFRR
(B 1)
£ W O EBE RNE | B K EE DM
ER20FEE 114 80 23 5 - - 6
1 5FEE 91 67 9 3 - - 12
25FE 46 31 7 2 — — 6
23FfE 55 40 5 — — — 10
20 E 48 37 6 1 — — 7
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5 ARAELIFREEFBRVER

(ER25%1 B 1BIEAE)
X o) =] 4 FREFE(m)

"% 31,961 3,051,806

E A & = 12,734 1,479,162

# A F = 1,041 157,124

x| B ¥ N3 3,031 478,235

REE-FH=-RTIL 89 18,895

BB ER1T 339 35,880

Bl 15 m B 19 3,158

" B 5 8 849

Bl B - B8 E 943 102,502

+ B 2,769 139,121

Feit £ E3 10,866 608,871

HRFE-FESE 122 28,009

T 2,507 426,202

EST-IE8 - R1T 283 116,504

Fl g 7/8—¢ 484 65,499
X -

gl BTN - R 45 50,606

I 5 E E 596 126,535

z D fth 1,099 67,058
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